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@HILD DEVELOPMENT & PEDAGOGIJ. :
1. 932, agea 6 28ede aiaecg @& | 1.  Backward, dull and retarded children ar¢
AINSIo8 6q6e ? , ,  generally to have an IQ between
(A) 60 - 70 i 5 (A) 60-70
(B) 70290 g wh s ' (B) 70-90
(C 90-100 . . (C) 90 - 100
(D) 100-120 (D) 100 - 120

2. 6000 6RQIA JIOIGFA e AUIRIR Q68 ? 2.  Which is not-a component of core
P e ) kX curriculum ? i, B e b R

(A) QRNTS I -(A) Duty towards constitution
(B)  G6ada 2°%48 6 GQIel 2GR (B) Study of foreign culture and
| “tradition . .

(C) alsedq gadl (C) Protection of environment

(D) 6@RIFR AR (D) Scientific temper

Geq)Io FIg cagd due zacd 8ge 68884 | 3. Which of the following is a characteristics

3. 9166 ? : of a learning disabled child ?
(A) " Oa Iesa aIg 9@ FaRel (6 Q9 (A) Misreads number (‘6" as ‘", ‘3’ ag
181
e° 3 9 8) )
@B oae zee(®2dpad (B)  Reverses letter ('b’ as ‘d’, ‘p’ as ‘q)
: : C) Add letters (‘want’ as ‘what’, ‘
ocalel (want § what, what ( as ‘what’, ‘whay
© &i@ f)l ( ‘ as ‘whart’)
ar
: J .|@ ase (D) All of the above
§. (D) e0%T ' e
OTET/P-1I'
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seT -(D)

4. SIB96 QVGIQ AR AR 6 FgR el | 4. Whenatestmeasuresanindividual’sabi]ity

AITAIQAL! TAIVEQ 8 @6l QRIAIN ? consistently and accurately, then that
quality of test is known as

(A) 63l (A) Validity
(B) &gaqael (B) Reliability
C) eghael v ‘ (C) Objectivity
(D) QAL (D) Focus centered
5. 6096 9e geade d84 Qg Q6L ? 5. Which is not a projected teaching aid ?
(A) QU9Q 6916999 : (A) Slide projector
(B) @@IdC! ' (B) Blackboard
(C) BRRERE 6YIEgR : (C) Overhead projector
(D) dealexq | (D). Epidoscope
6. eGoe Gael AAd Al AIRARS ? 6. How can the internal consistency be

measured ?

(A) @CEIeR1 IQ4! a8p - (A) Anecdotal Record method

(B) <QIQEl - gRIUIE] aee (B) Test - retest method

C) useas aed (C) Split - half method

(D) calade @_6‘5 (D) None of the above

7. Which of the following is not a method

7. coled @ aaIEae Bqae) GaUe A6E 6ea
of estimating reliability of a test ‘s

. 060 gge g% ?
(A) gps a1y a8 (A) Test - retest method
(B) Qegay g aad (B) Alternate/parallel form method
C) 2s-aed Q8o (C) Split - Half Method

(D) aeIad 28 98% (D) Testing condition method

OTET/P-I1 (3) (Continued)
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8. 06qIe 6a6d mie a°qor daea fan gee 7 | 8. Which of the following is not a principle
of constructivist learning ?
(A) daiginies §e Faes RIF Q°gof (A) learners construct knowledge for
oaelIed themselves
(B) 394 Q@ 8IQ Q°F0R gaal (B) learning is a constructivist process
(C) d96 9@ AR qal/eIdy (C) learning is a social activity
(D) d9Q 6gd1996Q caled QAR (D) the teacher tries to arrive at a
QAARINER AU 62Ql Q68 60Kl solution of the problem in a
Qa8 classroom
9. “QIecRIN §6ea 92980 6291 @ QF, A191@ | 9.  “Growth is the mulﬁé]ication of cells, as
Q90! 68 6R% Q8] QEIRAN | FIg IRI§ gI4 growth in height and weight, while
FRIGE QFQIR TRNNRY IIIRAN I - @ development refers to the change in
QB0 @9 adaem ? organism as a whole.” Who said this ?
(A) Q.9. 200K "(A) E.B. Hurlock
(B) a= (B) Frank
(C) 6qlge°eql (€) Crow and Crow
(D) 2RcaIS (D)  Allport
10. W.Kay (1970) & €106Q 676@ aqaqQel | 10. W.Kay (1970) asseted that moral maturity
ARIIREGS : | involves :
(A) Fsqidanel 6 93IFe! (A)  Altruism and rationality
(B) Qoeel 8 {8a! (B) Autonomy and heteronomy
(C) «@¢ 6eQl 6 2cd QIR (C) Punishment and obedience
(D) QIEe 6 4B cBLe (D) Social and interpersonal
11. d91919Q 494 dIMIFY 699 IR Q9 11. Which steps could be taken to give
3 P g
gQe8d FULIRAIRL 7 emphasis from teaching to learning ?
(A) 9RIQ TINTR AAER IR QR (A) Focusing on examination results
(B) §¢6aLe IIRING ged hal (B) Adopting child centered pedagogy
caIdl QIQ QYITE RFQ C) Encouraging rote learnin
(©) ging g 3
(D) e 6oae 481Q 924 Qdal (D) Adopting teacher centered teaching
e N s ;
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12, Q9
S 9L Qg @l aIag QRS

13.

14.

15,

- (©)

©

GQ@ aaqomq
QA6AGN 2U6E 7 I® RS galIe

(A)
(B)
©)
(D)

fieg 6@3@
IR iy g
AAAR I
FRIAN

e@@i@ 6R6HIR AR IR qu@e{aﬁqéﬁ’
2GS ?

(A) 996 Qe

(B) Q4IRS A MQLIQ
QERGl

(D) @8 @3S

£ 6R6dIa 2ARQ F6Q, 6TNaR Fald 6
gae @adq 670 UGe 6AKTea 2IRIa @ad

629 ?

] - 2IQea
S - 2IQea

(A)
(B)
Slglale]
(D) YUGaQ ek 21960

cod @odea a4 Aea AeaI0l aREA 1@
aGe g0y 629! UaA @6a O 2ARQIRT

olg, QIR 6291 608 QRN ?
495 ed @04
5q 8 ad @ad
11 ¢ 12 @d @ad
15 ¢ 16 94 944

(A)

(B)
©)

12.

13.

14.

15.

seT -(D)

od is useful when

Which statistical meth
ar to

distribution of scores is normal or né

normal ?
(A) Standard deviation

(8) Normal probability curve
(C) Average deviation

(D) Median

Which of the following is a social change
during adolescence ?
Fear and Shame

Adult-like-behaviour

(4)
®)
©
)

Restlessness

Imagination

What will be the shape of a graph
between intellectual development and
chronological age from birth to
adolescence ?

(A) ] - shaped

(B) S - shaped
©

(D)

Zigzag
Hyperbola shaped

At which age does a child begin to be an
active member of a peer group and tries
to be independent of his parents ?

(A) 4-5yrs. of age
B) 5-8yrs. of age
11 - 12 yrs. of age

15 - 16 yrs. of age

(D)

OTET/P-1I
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16.

17.

18.

(B)

F6I8 690 237 a4 AIdwIaIe 9@ 678
Q6L ?
(A) FNQIIR ceeR IRAIG AR 6ILOIER
496 eqIqela

(B) 4948 e QQuae gaal
©
(D)

436 Q@Y adgen ase
ASE[E 11 9@ 39 gFl

A9 AYRIQ ANFAE - 2009 AR Qo]

ARG QI FFieh FAR 2AUNR FEER ?

(A) 6Q9Iee QI 0] QI6e e
AIRA6R

ATRIRRE A9 6 403 ARG
dIPINA ARIYGIER TR AR

©
6AFINETR TS AIRERS! AGAIL
MR 621U

(D) Qf8Qe 6¢38e 6926a, 6920I6q

63AIRG F1RRIQY 6R9R AFse 9ge -

ULV

NR@ GOt SIRG AIOIRAR 6AIRR! 9T

RAIZER 6221 G 6UUR :
(A) 926 eaAee AR §i? gRiaa al0yge

(B) QAR dRIAIEE QRIS SRicige Qe
d8el a9 29A% alRraee

2AeF6Ra dR Q4egl, 694 QIe6a

16.

17.

18.

SET -@

Which of the following statements is not

a feature of the process of learning ?

(A) Educational institutions are the only
place where learning takes place

(B)

Learning is a comprehensive
process

©
(D)

Learning is goal oriented

Unlearning is also a learning process

According to RTE - 2009, how should

- children with S}Secial needs study ?

(A) In special school established

exclusively for them.
(B) At home with their parents and
caretakers providing necessary
support.
In inclusive education setups with
p'rovi_sions to cater to their .
individual needs.
In vocational training centers

which would prepare them for life
skills.

A progressive school curriculum planning
should be done in a way that :

(A) Boys and Girls have different
curricula :
Intelligent child should not be

allowed to mix with normal
children

(B).

(C) 68999 7 aae agaI! Saa aRa (C) Children should be given a free
QRILGI 2 AR hand to choose subjects from a very
young age
(D) QIOYRAT GAR1A 8 ARG ALCTFQ (D) Itis a flexible and rich curriculum
QIIRAR 69R 621RUS including various co-curricular
activities
OTET/P-11 (6)
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20.

21.

. QA0 §24 aaIB ?

(B) <Qiqq

e J

&°s

€ g0 = grg

U1 =

(D) <sQea = grg

O\ | =

Q6719 60 391a AIge s6q Bsige QI
adieeanq 6aIcy fde enaa ageng
64169IQ QUILIN2AN 6 AFI6RTR 6aIE QY

(xR, 1 Yol
(A) AI9Q AIEe1/Iae
(B) KFQ°Te 39l FFIQd
(C) 2ersnIa I8 AR
(D) Qrgye F8Ied g

eIdgas uQaIal F6gI9 6aas 6A6aIaq
Golaehe QIdy g6 ?

(A) 96eQ dIRIAR G0R 6 ARIFY QARIGLR
ged @aQl
(B) QRS gaeia QI Qa8 @RS

(C) Geie 6 glaeide f1ee A06e 99e

aaQl

19.

20.

21+

seT -(D]

At adolescence, the head of the child is
about :

1
(A) Zth of the body

1
(B) gth of the body

() %th of the body

1
(D) - gth of the body

In which of the following rating scale, a
sequence of definite numbers is supplied
to the rater or to the observer and the
an appropriate

observer ‘awards

. number ?

" (A) Standard scale

(B) Rating by cumulative point
(C) Graphic scale
(D) Numerical scale

Which of the following is not a
developmental task of adolescents

according to Havighurst ?

(A) Accepting one’s physique.

(B) Developing socially acceptable
behaviour.

(C) Preparing for marriage and family
life.

(D) Learning sex differences.

(D) @ F6aael dael

(7)
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22,

23,

24.

25.

CE L

Aeedq Sag
Qe .

(A)
(B)
(©)
(D)

2 ARIeG6R 2y zielen eRQIq

QG AQQRR
NG 2geng
SE qste

AL Qesaig 94

TANYS Auq cods ARIILARR Q6Q4Y
S ? '

(A)
(B)

996 gy Gaecq P&
969 96 aigq)

©) 888 9qesa ann coias & wF aige

(D) eacqis aag

A6LTEER B2Q R 9 AAIREA Qg oael
IR 6QY FIANT PR QUL ?

(A)
(B)
(©)
(D)

A HIRHe
ol
AU
AQaIGR

dol @18QIq SI98 64, 6Q 1@ ﬁég SIa1ea
Q@ ae gode @@OI@G: @ QR ? Reqlio
FRIQ) 606 AIRTE UTIR JYRY 629 QIR
UL ?

(A) QaRey aa18d

(B) F69IQ8 AIFQd

(C) BeaAs! axed

22.

23,

24,

25.

SET-(D)

Signal learning is commonly termed as :

(A)
(B)
©
(D)

Operant conditioning
Classical conditioning
Chain learning

Verbal associate learning

Which of the following is an objective of
evaluation ?

(A) . Know about learning difficulties
(B)

Measure the achievement of
learning A

(©) Know that learning has actually

taken place '
(D) 3_All"‘of the above

91836

Which scale is widely used in surveys
when data are classified by groups or
subgroups ? T

(A) Ordinal
(B)
©)
(D)

Nominal
Interval
Ratio

Mita wants to know whether she will
perform well in a particular job or not.
Which of the following tool will predict
this ?
(A)
(B)
©)
(D)

Achievement test
Attitude test
Aptitude test
Intelligence test

p) & aaudl

(8)

—
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26. @ Q6B INIRA T8 FNNAIeRE cag 98
QAR 6gIRG @Al ? 2

(A) gPsaITeINRR ACRIQH
(B) 4oulE gef

©) 998 a3

(D) €&ae g9qd

7. U6 QR QRS |

(A) NI

(B) Q2eIe de@
(C) <dIaIae Il8
(D) Q€A ARSI

28. geRIRle FGAIRE, JARAINER 6R66 Faa
QEIRRT QNS | 6AYLR Y :
(A) RIF ARG 6291 @RI
(B) 6QAIeEa YT TIGR FalN
(C) ARNQE 6 Fae dIIR gg1eM9eq
_ gea QaQl Arce ARRS
(D) Qasre 998

29. €add QIOIQAA IR gRIa 62 ?
(A) &9 6@Le
(B) udwel G
(C) B &8e
(D) @ 6aRe

30. Qlo| (06a 6419 62@@ @@ids a@e
Quogala 9aea 963l ?
(A) Q@ig f12 0Iga
(B) QIey QU

(C) ¢ AR 351836

(D) aeaM

26.

27.

28.

29.

30.

—— 2RV

SeT -(D]

An empowering school will promote
which of the following qualities the most
in its teachers ?

(A) Competitive aptitude
(B) Tendency to experiment
(©) Memory

(D) Disciplined nature

Emotion is originated through

(A) Habits
(B) Instincts
(C) Physical development

(D) Formation of concepts

Teachers of gifted children need some

particular qualities. They must:

(A) Be intellectually curious

(B) Do not have variety of interests

(C) Not willing to accept unusual and
diverse questions

(D) Not to be systematic

Which is not a type of curriculum ?
(A) Child centered

(B) Experience

(C) Regional

(D) Activity centered

Who said, “Yoga is the identification of
self with divinity” ?

(A) Rabindranath Tagore

(B) Mahatma Gandhi

(C) Sri Aurobinda

(D) Patanjali

e —

OTET/P-II
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SET -(D)

(M.LL. (ODIA))

G690 910 00 FeRee ggqmen (ag & ot
Q 35 adi’) eea Gy |
m-qr@m, ULIe RRaER ARGy | Zlice QTGN
§196Q ReaaR Qie U | QIRGIAIeR afiedyl aie
SRE6R Q6 6RIeg Quceig f0Yqea Fgs @@
QEIIAIN | 69Ra8 216 goie 08 6 A218Q7I6? 296
QIR AIQE qoq SRRAITT CAANRT QIY
G AIERAIRGER F5e aie 6QR86R | ATGYR AGYIQ)
2T 62910 R06R 6a¢IIge N QRIE DIgAIRIS QI
G QIRGIEF0Iq gaIe of 6RBIRR AT A6 698
PAUER | QIoRR RIAR-RIIRI 6360696R QIRIRIAN,
ARPAIR 8 ARG SYo1e Ul 608 Q9 QagIa
RIS 8 RIDRI 621 QIR Feleq - 99 ANIRTINSE
e NUVNER R2IQUE DQUEM | REG AIVIER URTIQ
3 9 ¢8RI A2 6RIR 6ARIFR GSelICE 290 R8QIR
PRI F2UR | RREAITR FRIGHER & APy gRea
Q190 hIER GaIFEs B QIg QIRYUMI | 62A60696R
@IQY, ARGY, 986 6 2P A9 AITR ATIEA saq
6202AI | TR, Q1BIEa ¢ 9136A I Sosa aaain
ALY 622 RAUCH | AITR 8RN FAGE cRap
QTR QA @@Qlé@ Q20 AILEIR AMIFR Qeige
6291Q QI 62RYUSA | 2R ALEY 66, 62606a6R
6RRR 6REERE AFA°E1A 6 AU AGIRGE
29da F6RIPR AT @ AUAIGE QIR wg°
QIFeY ARIQ QIR AGIAI 8 ARG coIg
QBaIRARl FRAFL 698 F6RI0Rg § ABey 6Qif
QIG 69R26R | A2 QIZMY, @ Qlaasi 6Q60696H
Qlgyd QIBeIR AGIan RIaR 6218 ARaAI |

31. QI99IAQ6q ea sale QIE Yol

32, °

33.

34.

62Q26M ?
(A)
(B)
©
(D)

6QQIQlG!

AR QRITe! aIg
AURIT AR QIR A
409l 6291 Qe

AN ISP ABeYeq REACAIRE BRACR QIR
6QR%6R QDG ?

(A) QRewe adual egiaer aig
(B)
©) erIQeS saig

(D) ®091eea 88 oo aig

S99 edal aig

do1ea RITRER AIRAIR 8 AIRQMIAIGE Gae
ABIER F1TR QaRIG geeien ?

(A) 940 QIFIGR 6ngEl QaaRN cRIRaRIg
(B) @e aigl gorym caIm felQig
(© e aial 28865 Qia cenaqIg

(D) Q716! Q26 QINER 0Q 6 Zegiq
9696l QAR QIQANG

QARERIAQ AIFIER Q9 RINICQ qldel

- QLI ?

(A)
(B)
©
(D)

QAN
QYe
QTR

; )*’II .
Q29 U

(10)
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35. UG QIpg aReAIaIn Qigg

SET -@

(&) gacag 19’ aqi ¢ 36. Q18R @’'4 eqam ?
afe BE°S19S 2eaq Seaion aiQ (A) IR
oR!
B) @IF8d
B) an . (
. 26 87018 afaionig goRY (C) 6aQIaRIAl
Q) Qe fieeq Sg

(D) «usvQIpaIqe Il 98¢ ga

@99R @QIT Q10 QF egq SRRl gy

(8 36 § 9° 40) goea aaq 3y .

- QI2IQ 284l 2, fIee agige

6Q 2% AI8Q P64 FI6R, Qlcqy, Qiedy 7
QLS Q6@ 6’ g, 1P ule

37.

(D) 6618 T6R GRS

QI3e QI9IQ 649 dF 69IR FoIa QAR ?

(A) QP6RIQEAIRE RILIQ
(B) 6@RgRIQ
(C) edeaq
(D) QI8 @€

698 Ue @ Q&6R, 09 Q6% Ha | 38. QI3Q QILI0IQ 96R QAU ?
2ARIF J6SPeR qu6Q YaeR, (A) Q89 QIR 0]
AIER QIR AT, AT 6QQ-2QUIEER | (B) & 9dQIQ Ol

AU F6Q6R Q8 @RI @,
OR 6l A62Ig, OIg 71648 649 A4 |
QIR Q6 216 @ 6KIFE 019,

(©) €IgR 6 AQYAIRS OIf

(D) 6QRAIRE Olg

§IA6Q d68 90 FOR 2R | 39. @I3eq 6aQ QIdig 07 §9IQ ARTIRRER ?
692 64 QI36q Q6w 625 RIS, (A) 69901 qadIR
2R¢gIq e 6068 62l 6¢1Q FIS | (B) SORIY ARAER IR
IPI96R SaRle ARGA RIRY ©) ud gela
gaes 6 auIee 99 6@ a1d | (D) QAR 629l
Sea elgee Ger & QAR aig,
“q B qa, 62 P18 77 6aR ¢ aoI1q; 40. QARER AR Q) ?
“o@ @6, Eada; golae 20, | (A) QoY
068 6269 FIBAIR, A6 OB | (B) <8
\:eo Feniclea @al 698 gleon (C) edg
o QId &, 96y U6S V6R qale 2"’ (D) e
OTET/P-11 (11) (Continued)
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sir-) 3

41. ‘FIaQ’q Jaaield QIR §98 @'a ? 4. ‘U9R aQaip 62’ 2d gRId QAR 9FCe
9912 |

2 (A) &% aigq del

(B) @3q (B) @Ia6q gol 6@

(C) Qae . (©C) a09f aid aigq

| (D) ¢aal goal
(D) @9 ,
45.. OR Q919 g9l 99 GIRAce coiR QAINRIQ

42. QYR AORA QWY @ ? e RIAIRRN 945 606 gRIR g4 ?

' - (A) edieaagee
(A) 9of 6 Q340 985

(B) 99 °90fee

(B) wusIge 66?]619 1AM ©) @8a ARIRARHRe

(© aeegd (D) QuisgRe

(D) QUI2Qd 8IQ AHQE ] , "
46. ‘QYQ’ - 921 60 9L ?

(A) &
43. 600 9F ARe AI0YY8R gF ggey es ? (B) ueia
ALk i (C) Q&R
(A) wgsa dRINING AqEIQ qae
daaIeaid | OF 25380

(B) &ee daie 9Qeq IR SRS | 47. Gadt 690 48 §@ 7

(C) <26R QI09% 986 AIdied e acq (A) @8
dge 62108 | B) @
(D) <E6R 99IR alel FFGAIRE Bree @ 8§
ALK ORI 9P FAUAIRT | (D) @&
T \
OTET/P-11 (12)
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48.

49.

50.

seT -(D)

OTET/P-11

69 FRYIae e ‘ . T
@gs ? 210120 926 39¢ qige | 51. 6w 0766 GOR AEIAR Al AAGS F6TTF
2q Q% ?
(A) 991691 aqiag A) edigefe aad
Sk (B) QIQua0f gaIa
(B) 6AIGETRE Gauiae
- (C) a0 geIw!
() 9gai oaiag (D) <egde a8
(D) 2URY aYE y
' 52. eellae QIIORIR 674 IR AQ1BE ?
(A) Qg
Y2l R Y2 FRI AQ AR’ QFee zd (B) Qaad
Ak (C) ges!
3 a caIdeaIae
(A) @A AAQUER aFel (B), &
(B) QFgg AAIR §9IQ @RS 53. “aas gg, 9igal ofea @0a AT I” -
' CRUIRe J9F 609 JRIQ AMG ?
C) 99Q QAR AR (
‘ (A) Qaeglee
(D) Qewea Qflilie 624 B) aiQaude
(C) <aQide
oS ) (D) QWG goR
‘Qaleal’ aaca digie @Iad @6 ? :
(A) gfqd asIed 54. 6QG0 09 d0a 98 Q68 ?
(A) QR
(B) @age Iead RIFa AN
(B) <@e
©) alaife gae © eme
(D) zQIeIee (D) qQeqie
(13) (Continued)




-
R (o
SE @ !
1
b |
i

55. U588 aidey dqieie coen Rigl aT6R ga] | 58. 6RGE QURRE JUIRIER QEREY Q68 ?
691 Q5@ ?
(A) dRIFIEE 90 ARG 48 RIFER
(A) dQIgaiRe *LAIR6D |
(B) Q9@ zcques (B) @8qlI 6 §a198a Folg QNS
RQIRES |
(C) <0e aea 2810ad | '
(C) ae608 99 Iy GoRa edlae sl
(D) s QIR QaIae Qdco | -
(D) A90 QISRIQ FGA AICS 6RdIEa gaId
56. 9gR 629 @aeIa gden daid asIael gae @RI |
|y 6291 @50 ?
(A) eae 59. ‘6d9Q’ 90a geb geis @'a ?
(B) d<a (A) Q9 + @
(C) aoe (B) Q¢ + @
(D) Qe (C) 6d® + @
(D) 6dlg + 2Q
57. ‘deqe’ d2ca caw dea ‘gd’ avad
weRe T 60. 6965 960Q FRIBE Qe Qed 7
(&) Gaee (A) <IRieq
(B) ‘8l (B) @1R6dR
© Qg ) eaQiAIe
(D) Qe (D) 2Qee
' (14)
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62.

63.

64.

seT-(D)

(L-ENGLISH )
61. Mat Fyi;;l):lqueiﬁons promote thinking | 65. Which of the following activities comes
skills In el first while teaching a prose text ?
(A) Open-ended questions (A) Dividing the whole text into sense
(B) Close-ended questions group paras.
(C) Factual questions (B) Planning some activities for the
learners to introduce the topic-
(D) Questions based purely on the : g
reading text (C) Silent reading by the learners.
(D) Asking questions for helping
, comprehension. b
Using intonation is necessary both for
66. Some of the crockery broken.
(A) speaking and writing
(A) has been
B) speaking and listening )
B)- = : £ (B) have been
C aking and readi
(C) speaking and reading (© were
(D) listening and writing ' (D) have
Spacing is necessary for 67. I visited him Christmas day.
(A) reading (A) on
(B) writing (B) in
(C) speaking (C) at
(D) listening (D) upon
Dictation tests the skill of 68. Intonation is learnt through
(A) listening (A) reading
(B) listening and speaking (B) listening
€ iti
(C) listening and writing (G e
. D) speakin
(D) speaking and writing ) e
(33) (Continued)

OTET /P-I1




69.

70.

71.

While we
went out.
(A)
(B) are having
(C) had:

(D) were having

our dinner, the light

have

Lalita kept her coat on, it was

warm in the room.

(A) since

(B) although
(©) yet

(D) still

His behaviour on that occasion was quite

(A) unappropriate
(B) inappropriate
(C) misappropriate
(D) inappropriately

74.

75.

.

D)

seT -(D) |

State which of the following is
grammatically acceptable.

(A) O Hamlet, speak no more!

(B) O Hamlet! speak no more!

(C) O Hamlet speak no more.

O Hamlet, speak no more.

She said, “My father died a year ago.”

The above sentence can be reported as :
(A) She said that her father had died a
year before.

(B) She said that her father died a year

before.

(C) She said that her father died a year
ago.

(D) She said that her father has died a

year before.

One who loves and works for his
fellowmen is called a/an

72. Questions on comprehension test the (A) optimist
learner’s abi]ity of ) (B) fatalist
(A) wunderstanding - (C) misanthropist
B bul
(B) . vocabulary (D) philanthropist
(C) speaking
(D) writing
77. Verbal test can assess the ability of
73. He is suffering from
(A) listening
(A) the headache
(B) headache (B) speaking
(C) a headache (C) writing
(D) an headache (D) listening and speaking
\—
OTET/P-II (34) (Continued)



78. gtudents explore the meaning and
information about a lesson

during silent reading
after silent reading
before silent reading

after extensive reading

79. The objective of note-taking is to develop
(A) reading and writing
(B) listening and writing
(C) listening and speaking
(D) writing and speaking
80. People say that Govind was a great

doctor. The passive form of the above

sentence is :

(A) It is said that Govind was a great

doctor.

It was said that Govind was a great

(B)

doctor.

It was said that Govind had been a
great doctor.

©

seT -(D]

Read the passage below and answer the
questions (Q. No. 81 - 85) choosing the correct
alternatives given.

At this time also Gandhi became more
interested in religions. When friends asked him
to help them in their understanding of the
Bhagabad Gita, he began to see how beautiful
it was. Before long it became for him the one
book for the best knowledge of truth. Someone
gave him a Bible and in it he found some
teachings of Jesus which he liked very much
because they were so like certain ideas in the
Gita. Then from a reéding of a book by the
English’wriga_LCarlyle, he learned about the
Pr—c;)het Mahammed and about his greatness
and bravery and simple living. At this time he
was beginning to learn that the truth he loved
was not to be found in any one religion only.

81. Gandhi liked very much the teachings of

Jesus as :

(A) they resembled certain ideas in the
Gita

(B) they taught him to live bravely

(C) they helped him understand the
Gita ;

(D) they taught him the lessonin simple

living

Which book for Gandhi was the one book
for the best knowledge of truth ?

82.

(A) The Bhagabad Gita

(B) The Bible

(C) The Quran

(D) The Bhagabad and Quran

(D) It is said that Govind is a great
doctor. -
OTET/P-II
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83.

5

SET - @

i
4

'(Thomas Carlyle was author. 86. Who did not reach the town ?
A) a German
t
B)  a Firench (A) The poe
(C) an English (B) The parents
(D) an American (C) Lucy
84. Gandh;j began to see the beauty of the (D) The storm
Bhagabag Gita . ,
(A)  when he became more interested in
religion 87.. The parents were looking for
(B)  when his friends requested him to (A) a guide
help them in understanding it : _
(C)  when his friends gave it to him to (B)  the bridge
read with interest ' (C) their daughter
(D) whenhe began to find the teachings
Al (D) the moor
of Jesus in it. '
85. The phrase ‘before long’ meéns
(A) certainly 88. The “wretched’ means
(B) slowly (A) old and weak
(C) 1later T
(D) soon . (B) angry
Read the following poem and answer the (C) contented
questions (Q. No. 86 - 90) choosing the correct (D) feeling unhappy
alternatives given.
The storm came on before the time , » _
She wandered up and down; 89. What did the parents see from the hill ?
And many a hill did Lucy climb; (A) A field
But never reached the town. _ .
The wretched parents all that night (B) A wooden bridge
Went shouting far and wide; (©) Their door
But there was neither s:ound nor sight (D) The iriocs
To serve them for a guide.
That day-break on a hill, they stood
That overlooked the moor; 90.  Why did they weep ?
And thence they saw the bridge of wood, )
A furlong from their door. (;\) Because they could not .arrlve home
They wept and turning homeward, cried, (B)  Because they were lost in the storm
In heaven we all shall meet, (C) Because they could not find Lucy
. th tl i
When m the snow fe mother spied (D) Because they thought they could
The print of Lucy’s feet. dic
Lo emie
(36)
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Qdie B § =TT
l S8IS / MATHEMATICS & SCIENCE |

9@ 46 o
91 20 6Qd 9e° lezatl;iiz‘\; gé%a 6qdy 91. One side of a right triangle measures
5 cafl 626A, 2R SI12BQ 6Te4 @ o AR 20 cm and the difference in lengths of its
Q@Q | hypotenuse and the other side is 8 cm.
Find the length of its unknown side other
than hypotenuse.

(A) 21 66

(B) 29 6Qd (R
: B) 29

(C) 25647 E C)) 05 Zi

(D) 16 6 | o B

92. x+a=x+b626M, a=b; 12l cale gRAIQ | 92. Ix+a= x+b implies that a=Db; this can

64 909 El@@}_@ ? be established by which law of addition ?
(4) desqiat (A) Associative
(B) <@ ' | (B) Distribution
(S (C) Order
(D) 68aw ' (D) Cancellation
93. 3(35Y)=27%+54 6267, x Q AIR 6A6E ? 93. If 3(33Y)=27%+54, then the value of x is
1 1
(8 3 A 3
B 1 ® 1
~ ' 2
2 —_
© 13 © 13
(D) 2 (D) 2
aa @idy aie 919/ SPACE FOR ROUGH WORK ;@
t
W e 2 5 3=
T3a e JEERCETITOY TSR & |
' oY ’F’ )IA ok A1 bY
va
A ( m ‘%
VN, 2T A
2!
LN 31&" &4
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94.

95.

96.

986 Ada daa agaul Gge eael aid
§Q9 9RAIS 28gs z6e 7

(A) agaie
(B) fegee
©) aeee

(D) eRqige

dIgfe FURa a6 e G949 968
URAE SQUAIQEINT ?

(A) 698 a8
(B) @4€Q GI6eR 86
C) ugead aso

(D) QQ6QI8 AAY Aed

P69 ﬂQlG}_ 6Rae ade dad G@OQ ms
G‘GQ ?

(A) aged @dIa g6ald
(B) go3deR QU6 ¢ god @dQl
(C) uige alae gie

(D) Qe@ ATEdIIeg 2ecer aael

94.

95.

96.

seT -(D)

Which process is involved to identify the i

specific learning difficulties in

Mathematics ?
(A) Prognosis
(B) Diagnosis
(C) Prediction

(D) Comparison

Which learning method is adopted at
Elementary School Level ?

(A) French Method

' /(B) Kindergarten Method

(©) Imitation Method

(D) All the above Methods

Which one of the following ign\ot\ a
characteristics of Learning Mathematics ?

(A) Provide scope for participation

(B) Take active part spontaneously

~ (©)  Providing stimulus for interest

(D) Neglect the backward students

Q@ @194 QI 9I9 /'SPACE FOR ROUGH WORK
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97.

98.

AABC 6& D, BC @a@g o §q qe°
m/ABC=mLDAC | @8 AD—g ¢qf,

AC=12638 6 CD=96Qf gu, AaBCq
gaQael Gda /9 |

A

(A) 28 6@
(B) 32 64dd
(C) 34647

(D) 36 6Qf

fORge I 696 69461 AIR JRUIARA TRITR

gdiedie ZJGG‘ ?
(A) dsieh
(B) &9
C) geIge

(D) @aosqs A7L

97.

98.

seT -(D)

In AABC, D is a point on BC and
mZABC=m«ZDAC. If AD=6 cm,
AC=12 cm and CD=9 cm, find the
perimeter of AABC.

A

(A) 28 cm
(B) 32cm
(©) 34 cm

(D) 36 cm

For which category of the following the
results of evaluation is necessary ?

(A) = Student
(B) Teacher
(©) Administrator

(D) All of the above

oo idy Qe gi9 / SPACE FOR ROUGH WORK

n@

OTET/P-11
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99.

100.

101.

S9I5 aIgea a1 g1a @ e Agesa, T19
G 99Q 29016 gai 3: 2 v 2Ry @ AIGER
91 8 990 2gaIe gl 5: 3 | aa AIgY
602 AQaIeeq Aga caa Aaqsa, |oR
Age6a gia 6 eaq AQAIE 629 11:7 7

(A) 8
(B) 8
) 5.
(D) 5

SR IR N

NS 9T Q2QRQ A8 B 9D3A 6RI FRIER
QY 60°, 6669 a9 QLR ULA°I
6R6Q 7

(A)
(B)
©

9e8T1G¢E
(D) -

X3 o U

36,000 @ 998 QRRIT Aq 6AURE 661G
UEQ QTR 12% Q&I 2106a 3 @F AIF Fae
6Q6m 6963 Qu ARe, Ay QIeIQ QTR 16%
Q2 21060 4 @F 6 A1 AIR FQR 6P6M 626
qu A@e |

(A) ¥ 3,500, T 2,500

(B) ¥ 3,750, % 2,250

(C) T 4,000, ¥ 2,000

99.

|

SET - D

A mixture of milk and water in the rati
3 : 2 was taken in a pot and in anothe
pot,(- the ratio of mixture of milk to wate
was 5 : 3. In what ratio of the mixtur
from the two pots be g}ixed such that th
ratio of milk and water in that resultan
mixture will be 11 : 7 ?

(A) 8:5

(B)
©)
(D)

g g1

7
:3
4

The difference between the interior anc

exterior angles of a regular polygon is 60°
Then, how many sides are there in thaf

polygon ?
(A) 5
(B) 6
< 7
(D) 8

Divide X 6,000 into two parts, such that
interest on first part at 12% rate of interest
for 3 yrs. will be equal with the interest
received on second part at 16% rate of
interest for 4 yrs. 6 months,

(A) 3,500, T 2,500

(B) 3,750, T 2,250

(C) ¥ 4,000, T 2,000

(D) ¥ 4,250,% 1,750 (D) ¥ 4,250, T 1,750
Q& @IdY a8l 9I9 / SPACE FOR ROUGH WORK
& *\5/ ¢
sy p K=
e
. ot 3P 4
, +—
A %;/} @—— @ | At e =
g ‘ AL y
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seT -(D)

JB85=2915, /85=979y
102- 915 626@, | 102. If +/85=2915 and 85=9.2915, then

0.00085 = ?
J0.00085= ?
() 0.0921
(A) 0.0921
(B 0.00291
(B) 0.00291
(©) 2.0915 -
| (C) 2.0915
0.02915 '
(D) (D) 0.02915

103. @@ 6@6Q DH:HG=3:1 EG:GF=1:2, | 103. In the figure shown DH : HG=3:1,
DX s el g=n . EG:GF=1:2, find DX : XF.

D D

(a4) 1:1 (A) 1:1
(B) 1:2 - j (B 1:2
€ 1:3 (C 1:3
(D) 1:4 (D) 1:4
oa @idY aist 918 / SPACE FOR ROUGH WORK
V@
\J
(41) : (Continued)
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SET - @

' bers greater than |

104. 36Q16 §% G a6 Qe AUg 96y 6aIgl | 104. From among thiee :m;{CF 2g; nd theis
aQeeyIQ Q.ql.q: 29 @ qogﬂl@ﬂ@ qﬂ@- 290 | 30, eaCh palr has the B

y : largest number ?
Q@ g604e QoS 30 A6aRI Q2aa 621NN, sum is 290. What s the farg -
6062 QAR A°GNIT 666 ?

(A) 75 (A) 75

(B) 95 | “(B) 95
(C) 145 ©) 145
D) 135 | (D) 135 1

105. @8 5@6@ PQ=PR, RQ=RS 6 ST||QR | 105. Inthe given figure, PQ=PR, RQ=RSand
ZRST @ 9a¢§ @¢a 9a | ST||QR. Find the measures of ZRST.

Q

(A) 64° - (A) 64°

(B) 52° (B) 52° 3

(©y a2 - - " © 12°

(D) _76° (D) 76° !
S @a @Idy @I’ QIR / SPACE FOR ROUGH WORK 9



seT - (D)

106. 9@ 6918 6QIRIM Qe
15% qe1ca a0 Q;la; :150 &Rl uIeQ 106. If a shopkeeper sells a bat marked T 150
S50 qaue 9@ at 15% discount and gives a ball costing

QR FI6I8l AT 606Q o
@A 209 .
QIEQ @41QIA da Qq | 20% Q18 41 Z 7.50 free with each bat, then he makes

a profit of 20%. His cost price per bat
will be :

(A) T 90

. = (A) 90
< 100 4

(B) 4(B) T 100

C) 110

(©) ' \ : (C) %110

(D) X120 (D) %120

107. Q8 RIQ 6RR0 BIQ A°C0R JRIQ i ARSI 107. Which of the following is not an example

@.65 ? of Constructivist approach ?
A) 9181 AR 621R AP |19 a8 @6a | " (A) Student actively construct his/her
y
g knowledge.
(B) QAIFR QI o609 QeI g A | (B) Learning through social interaction
cel@ellid | ; and exchange of ideas and values.
©) daiiia 2gafiedee gee, AmIIa, (C) Itdoesnotdevelop skills like critical
ARG 18 @aol 9F6a QeIoe thinking, evaluation and creativity.
celaedid |-
Gimol 92 907 Gmel | (D) Construction of knowledge is

(D) @mieholea &

Qaoe 6eia R aela eaieeld | possible by addition of new

experience with student’s own

experience.

/
oo @Ik a1 @ie / SPACE FOR ROUGH WORK

-16‘4)62‘,%_‘\ B

5
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OTET/P-1I




108.

109.

110.

1 2
Q@ x=2+33 +33 @4, P-6x*+3x Q

Ry 6966 ?
(A) 8

(B) 6
©) 4
(D) 2

“qEie uq Gale Q2B Aeaie AR ATIa
@6Q”’ | - @9 QPYem ?

(A) 6a6R

(B) 20699

(C) eQ&Ifie 6aaQq

(D) QIR@G

9@ GYFR 68QTR @ SITRANR 68TRA

% 29 | 898 6 9ITRane 296! AR G

29ea §f 20 6a.4. 626w, SITFAR 9@

QIR QLR AUFTRQ 6919 @9 AR
6Q6ISIgR 69aY 660 ?

(A) 20 6Q.d. (A) 20 cm
(B) 30 6a.4. (B) 30 cm
(C) 35 6Q.d. (C) 35 cm
(D) 40 6Q.4. (D) 40 cm

108. If x=2 + 33 +33, then what is the value“'._f_

109.

110.

(B)

1 2

of x3—6x2+3x ?

8
6

C 4
2

“Mathematics is the Science which draws;
necessary conclusions”. Who said this ?
(A) Locke

Hogben
©
(D)

Benjamin Peirce

Galileo

A tfiangle is %rd the area of a trapezium.

If the triangle and the trapezium are of

equal height and the base of the triangle
is 20 cm, what is the length of the line
segment that joins the midpoints of the g
non-parallel sides of the trapezium ?

9, 1Y aIe Q16 / SPACE FOR ROUGH WORK




seT -(D)

111. Who is the Pioneer of Taxonomy of
educational objectives ?

” A8e 26 QGIRada 2GR0 G ¢

(A) 4.6%. 2I6Ql
(A) A.J. Harrow

@ 892 9

(B) B.S. Bloom
C) AGR
( (C) Krathwohl
(D) da9ae

(D) Simpson

2 =
1_ o —~ <
112. 7 Q gEaIQw QEMIFNR IR AF VGJI°6 @RI 112. Find a fraction, equivalent to the

‘ ] :
og, JIfIQ AS B 2aQ gl 8 629 | multiplicative inverse of 17, such that

the difference between the numerator and
the denominator of the fraction is 8.

24 24

A) 35 . | A 32
£ - ® =

B) 73 4 43
18

18 18

© 2 ©) 26
28 T

D) 52 (D) 36

/L___—
o @I aie ae/ SPACE FOR ROUGH WORK
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113. 6996 adeq Qaa ade g 96¢ ?

114.

115.

(A)
(B)
(©)
(D)

olRe

Qe
ARG
QdRIge

FRGE Y 60T 9den AR ARIF AIGE
QL6 JNIQ AR 9GS ?

(A)

®)

©

(D)

JQehnIeg B9q AaIsa QIdIRaRI dIa
ARAE I |

d@a eda daldinesg A2-TCIR
Q%0 QY RARIq AN 9QIR |

399 QU6 F91Q 8I8 219R AR JQ
Jle el |

6IRQ 9e@ 6g41a FRIENAIGE Q6R
cQae Agd dqinies gele S9IQ
eS|

QAT QIR F AMILAIST 28 6 GBI
QAAIRAIST 224 | Q¢ Q2 Bl @9 |

SET -(D)

113. Which one does not link with the nature
of Mathematics ?

114.

115.

(A)
(B)

©

(D)

Logical
Systematic
Exactness

Descriptive

Which one of the following is associated
with the enrichment programme in
Mathematics ?

(&)

(B)

(©

(D)

Students are allowed to work at

their own pace.

Different category of students are
allowed to work with Co-operation.

No seriousness is required for

‘acquiring depth knowledge on

content matter.

Intellectually inferior students are

always dominated by intellectually
superior students.

The mean proportion between two
numbers is 28 and their third proportion
to them is 224. Find the two numbers.

(A) 14,56 (A) 14, 56
(B) 56,7 (B) 56,7
(©) 28,56 (C) 28, 56
(D) 14,34 (D) 14, 34

Qg @194 QIR 919 / SPACE FOR ROUGH WORK
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-

G 2¥tY=320825"VY=42
116. =4
J¢2+jz 1

A 2

® 3
€ >

D® -

17. 32 6 3 Q TR 0 QQ |

&) %6
B) &72
) 108
(D) Ada FALRARR Qe

118. <@ QI&6e Qo] S8R 2egd 2 460 909

oG 4@ oda aARIeea AeIe 62919 6QQ
Qe QelIaN ?

(A)
(B)
©

adieqle
AQEAIL \

Q6484

A

Q656

seT -(D)

116. If 2**¥=32 and 2*~¥=42, then
x24+y? = |
17
(A) 5
19
(B) Y
29
© 7
D 41
D) 5

1V17. Find the product of 32 and J3.
A) e
(B) %72
© §8

(D) Cannot be determined

118. In which method a Mathematical
Problem is divided into meaningful parts

to derive at solutions ?
(A) Inductive

(B)
(C) Analysis

Deductive

(D) Synthesis

g iy aix 919

5

/| SPACE FOR ROUGH WORK
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119. F6QI8 AU QITIQ FRY ASINS ? 119. Which of the following has the greatest 3
. value ?
NCE
(A) B+V22 = q U7 ! | (A)  J8+22
B) V1+v29 —| ¢ Uy (B) VJ1+J29
© VI+/B =94 1A/ (© VIz+Vi8
D) VI0+v20 - L& 4 Ve (D) J10++20

120. 15%0x 1012 @ gaTRa 64960 66018 g8 | 120. The number of zeroes at the end of the
QEQ ? . number obtained on multiplying °
1530x 1012 s :

(A) 30 ' (A) 30
(B) 12 (B) 12
(C) 42 (C) 42
(D) 6 (D) 6
121. qera 6 QRIE F1IER AR FRAIGYS : 121. Asteroids between Mars and Jupiter : %
(A) Qere SIAES end (A) revolve round Mars
(B) <Q2]C QI0U6e 9nE (B) revolve round Jupiter 2
(C) @89 g 8 Q290 9IJ6e QNG (C) revolve round both Mars and 1
Jupiter |
(D) QdY QIa6E QAT (D) revolve round the Sun 4

Q2 @Iy a1 @19 / SPACE FOR ROUGH WORK
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122.

123.

124.

(&)

ReCI9 988 erg cagy
Q6% ?

AV crgag 8%
dIede adeg

(B)
©

(D)

QALAR

diles

RuIge

600 987 6RISRR Adio Q68 2

(A) 6NN 8 MR Qe

(B) 6RINGEQ T9ER 01 GEa Q6

(C) 989 @ 6geqia Qial €00

(D) 8g9s

ARIAg UKL 64Iew 6RQ FO1 FA1916Q

9@ 2°6 ?
(A) <Ie1d Q116 1986
(B)

©

QIe1a 81916 2020

QIela NG 1968

123.

124.

seT-(D)

122. Which of the following is not a step of

lesson plan ?

(A)
(B)
©
(D)

Introduction
Presentation
Summary

Evaluation

Which statement is not applicable for cell

membrane ?

(A)

(B)
©)

(D)

Envelope of protoplasm and
nucleus

Separates cells from one another
and

Composed of proteins

carbohydrates

Porous

The operation blackboérd is a part of
which National Education Policy ?

(A)
(B)
©)
(D)

National Education Policy 1986
National Education Policy 2020
National Education Policy 1968

None of the above

(D) <9Ies A9 crec @ 952

OTET/P-1I
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125. 9946984 aad awie JQIQIREa 6896 JA@

60Qe ?
(A) @6ady ede
(B)
(©)

(D)

QRO AR
Al

RIS

. 126. Q194 988 d9IQIeeq 6QAIRdeea OR

QMg goIa |

(A) QO RQLAR -  AAQY LA
— QAR — ANNFNYI — INNS |

dele — Q94 dade — A9yl
QAT — ALAIR - ANVITAI |

(B)

(C) <Ay LAAITS — AYAIR — AN —
AQIFIFQIA — AAQY QG |

(D) QAQYl 2206 — QALIAR —
ANYFNE — AR — ARIS |

125. Which is teacher based in the observation

126.

(A)

SET -@‘:

method of Science teaching ?

Description of objectives
(B) Group discussion
©)

(D)

Conclusion

Experimentation

experiment process education.

(A) Problem -4
Understanding the problem — 3§

Assumption — Experimentation — !

presentation

Inference.
(B) Inference — Presentation of X |
problem — Understanding the 8
problem — Assumption -

Experimentation. E

Problem -

©) presentation :
Assumption — Inference —
Experimentation — Understanding

the problem.

(D)

Assumption — Inference.

Qe @IdY Qe Qe / SPACE FOR ROUGH WORK
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1

qdi @08 2G]Y . Qg
'€ QRIaN ? 620 9RRg

(A) UQR SIgede
@B €6e% NI
) 29SR UERAIRNFRER
(D) goqe SRR

128, 6RIRG-19Q A°GAE 634 QI2R ARIAIGA QU
g ALIAING Q3 68w ?

(a) Qg8
@) 89
© <19

(D) <QIeeTaR

129. @YAYS AeRIQBAIaE FIIER QR0 dgeniew
QIS a0R A6RIQR 962 ?

(A) dmidis @8 §5q @2ee 46!

@) daidis QIdg 6aa!

(C) aae Faldig aae @ls? QLI
gode @ae!
(D) @A agolaasa 2 @aa
T aa @id a5 aie / SPACE F

OTET/P-1I

seT - (D)

127. What is the bending movement of stem

128.

129.

(51)

towards the sun light called ?
(A) Positive geotropism

(B) Negative geotropism
© 'Positive phototropism

(D) Negative phototropism

Which carrier was the cause of
transmission of COVID-19 to take the

shape of pandemic ?
(A) Bat

(B) Man

(C) Air

(D) Pangolin

Which of ‘the following is not a right
attitude for the teachers ?

(A) Toencourage the imagination of the

learners.
(B) Taking care of the learners.
(C) Treating all the learners equally.

(D) Comparing the learners as per their
abilities.

OR ROUGH WORK
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130. 666 QEREYIAR LARIT AIGIARE IOI6R ?

(A)
(B)
(©
(D)

131.

17p, 17¢, 18n
15e, 16p, 17n
19e, 20n, 17p

9p, 10n, 10e

F6419 FrQ 6ead dIeeq 9@ dAg Alg

aee ?

(A)
(B)
©
(D)

gae
691G
6AINER

e QIR

132. QIOQID BER FARINER 679 AGRINT YAIAING
QR gge @6 ?

131.

132.

%
CAEEE
]
o
Pl
)
43

130. Which electronic configuration indicates '."

a cation ?

(A)

(B)

©
(D)

Out of the following which is an alloy of , 4:

17p, 17e, 18n

15e, 16p, 17n
19e¢, 20n, 17p

9p, 10n, 10e

Mercury ?

(A)
(B)
©)
(D)

Brass
Bronze
Solder

Zinc amalgam

Which microbe does convert alcohol to
vinegar by aerobic fermentation ?

A) oF (A) Yeast

(B) deeIRIga (B) Acetobacter

(C) QaeeleaIRq (C) Pseudomonas

(D) w6QINTNY (D) Lactobacillus
WORK

e @1y aid @i / SPACE FOR ROUGH
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.45 899 61 G g seT -(D)
6060 AR AaIR age QQ'QIQS}% WRE | 133, In maximum how many litres of
AL aquaregia can be prepared from 4.5 litres

of concentrated hydrochloric acid ?

(A) 4.5 [eQ

(A) 4.5 litre
(B) 6.0 Acq

(B) 6.0 litre
C) 7.5 fca

(©) 75 litre
(D) 9.0 Aca _

(D) 9.0 litre

134 9IEAQ ENI6R g RINR QIdige QIgd 134. Why was mid-day meal introduced in
I ? primary education ?

(A) glafe dl1g 98 qQeigel caIsIQQl (A) To give nutritional support to
primary education

(B) QYRR AR &S : (B) To bring institutional reforms

(C) 66191 g6 @aeQIdeq 99e 69 (C) To emphasize on accountability to
- : the community

(D) 6qIq1 Qg FRGE A< (D) To strengthen  community
participation

T o @idy aie gIe / SPACE FOR ROUGH WORK
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135. 6616 50 cm 611G 906! JEE @ QR

136.

6Reaq (Fig. a) 998 U QI Q@ QIR
QAeR 98 QIR AAFE NILEQ Qs
QAIQIRE | (Fig. b) | 2@69Q A°6QAIRRY,
Fig. c 6a 886 QauaIad | I8 A°6AIRe
QAR AR TIGIQ EREE 629 7

Fig.a Fig.b

(A) 05D
(B) 0.25:D
(€ 1D

(D) Zero D

dIg RNIAR 988 2B 60w dRas Ads

Q68 ?

(A) <& 69IeeaAR
(B) QIGeaaq
(C) uadeaae

(D) QA9 9IRS

seT -(D) |

135. A convex lens (Fig. a) has a focal length 3‘
50 cm. It is cut into two symmetrical
halves by a plane containing the principal
The two pieces are =
re-combined as shown in Fig. c. The

axis (Fig. b).

power of the new combination is :

Fig.a Fig.b Fig.c

(A) 05D
(B) 025D
(C) 1D

(D) Zero D

136. Which of the following processes is not

associated with metallurgy ?
(A) Froth floatation

(B) Catenation

(C) Calcination

(D) Magnetic separation

a@ @idy aid gie / SPACE FOR ROUGH WORK

- OTET/P-I1

(Continued)

Pl

- BN g

- o4 S i



137. 25 m? 2igee S W
910 9T | gpgg oo
QPR IS gagq 26 » 2
(A) 375N
(B) 6N

C) 175N

(D) 125N

138, 2IEARCYIS QIR AR J9e eleig oy

| G960 | GRITISISR GIRIQ SRR | 6aeica crede

| 62029 AR g 6 28I 9RuIQ 2cRIoq!
Q6R | ARG 6R6IT ety 2RI GRIasiea
ERYSA | ARCANER NI clead caeq |
E6R 609 IRIQ FRIQIR 726 ?

(A) adicass
(B) QUISHIREIRR

(C) gadeqee

137,

138.

SeT -(D)

A pressure of 15 Pa acts on a plane of

area 2.5 m2. The force normal to the
plane is :

(A) 375N
(B) 6N
(C) 175N

(D) 125N

On teaching photosynthesis, the teacher -
gave its definition. He wrote it on the
blackboard. Discussed the light reaction
and dark reaction involved in it. He wrote
the related main ideas of it on the
blackboard. At last, he gave the
homework to the students. Which type
of education is based on it ?

—_—

(A) Observation
(B) Descriptive
(C) Exhibition based

(D) Project based

D) geetée
o e e T
\( — aidy aie 918/ SPACE FOR ROUGH WORK
12178 .
\
g ¢S ™ V-
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139.

140.

606 QA6AINGE caIg aiden AIg QEAIEA 7

(A) Saeg
(B) QAxyg qqia
(C) 2l Qe

(D) 198 @8

IRIP VA QIR AAACA FVRAER PR
Ao ALNAR @A2IE G QIl asalaﬁg g1
62101 | 6069 TR FRIG 6746 6IRIAR
F6RINOR ARI8 @6 QT ?

(A) Q99T IRIFGIAER ARFE

(B) 6441 @Il 9Qddeq duafa
adicead

(C) Q99 9gR QS Qe

(D) S905q 9o QI aquIe

139.

140.

SET -(D]

Which adaptation can help fish to survive
in water ?

(A) Fixed eyes
(B) Streamlined body
(C) Light skeleton

(D) Sharp teeth

Teachers adopt various means while
teaching Science subjects and it is
accepted by students. Then which of the
following does not develop scientific
temperament ?

(A) Through experiment of the topic in
Laboratory.

(B) Observation of the topic in the
outside class environment.

(& Vivid description of the topic.

(D) Observation of the phenomenon
through project.

OTET/P-II
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141. 619 QARG %6Raeq

142,

QAN | QIQE - a'g‘lﬁ%ﬂ Negiq

(A) UYL & 2iag) yq

(B) URIIR 2660 96 oy 2198 2
N
(C) ARFFANR RIaE AARS 0Iq) 2y

(D) uRPARAN goaaIaIR cARe aee

-

Q596a Q62N QIR 69Q QIS 621AREAN ?

(A) ©IgaIgl faad
(B) @@ dGeee
(C) 25as o QRS

(D) aiee aQid 671197

2 T aie a1e

141.

seT -(D]

In thermochemical welding aluminium is

used because :

(A) Aluminium is a light metal.

' (B) Aluminium has more affinity for

142.

oxygen.

(C) Aluminium is a stronger oxidising
agent than others.

(D) Aluminium is a reactive metal.

Which work is not done by transpiration

in plants ?

(A) Temperature regulation

(B) Movement of water

(C) Evaporation of excess water

(D) . Excretion of minerals

(57)
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143. ‘6qe QIae eiQl

Q 690 @9 Qlela
QRUEA ? - @ ggo 6aa gRINR ?

(A) R ANGS
(B)

(C) eausaie AGe

8 AR

(D) Q@0 ARIGe

144. 690QIQ 6 692QIQ : €9 : :

@1ediQ :

QIR 6

)

g9 60Q geIa FRIA0 aRRdee ?

(4)
(B)
©
(D)

AR e@QRe
QAR
6ARQ
=holelatala)

145. 2IFQ g94IA ATAER 682 ASEIT 61N ?

(A)
(B)
(©)
(D)

QAR F11°ACAGNQ ERIOR
QQQ F11°A6ASIRQ AR
gaq9q @Ig feie

Q@ g ULOR L9

144.

145.

“Who gave the principle of white dwarf

stars ?” what kind of question is this ? 8

(A) Knowledge based
(B)
©)

(D)

Understanding based
Application based

Skilled based

Carbohydrate and fat : Energy :: Minerals |
and Vitamins : :
Which type of f1xed answer question ls,
it ?
(A)
(B)
©)

(D)

Multiple choice based
Analogical
Matching type

Selection based

Which event does occur durmg
inspiration ?

(B)

(C) Release of air from lungs

Expansion of abdominal muscles

(D) Reduction in size of chest cav1ty

o AN A QI / SPACE FOR ROUGH WORK
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146, a@@@mm} @ conge g
QRIS | YRae ay coda ®|§ QiR
8edYe 9999 9oIad ¢ I gqa

seT-(D]

146. A group of cells were observed after
reduction division. Which of the
following does indicate the gametes of its

(A) XX - male parental generation ?
(B) YY - (A) XX
| B) YY

©) X&X (B) Y

Q) X&X
(D) X&Y

(D) X&Y

/

47. GRIAIT QIR 60R QB <
: g ase ? 147. Which statement is not applicable for

black soil ?

(A) 26qodaIe Glle Q& TR SCIRRN on 8, 9

(B) ®2l 8 AISQAAN AQeIQ 2eq NG (B) Excess iron and magnesium salts in
it.

(C) QISNER 68 6ALQ AU AR (C) Excess manganese and iron salts in
it.

(D) @dieI” aiQ 20319 (D) Suitable for cotton cultivation.

148. 6RET6R RYAD 691G Q@6 20eMe@ &M ? | 148. Which has eukaryotic cells with
chlorophylls ?

(A) 640 @edel (A) White Blood Corpuscles
(B) gleairdal (B) Tradescantia

C) <RI ' (C) Bacteria

(D) Q19280 63U (D) Blue Green Algae

— g4 @i @7 / SPACE FOR ROUGH WORK



e 99 ealed @g eaca anadale §da
OR6AIC AR QIdY @d eMed ae aeId AIF,

069 6A6RIET QaT 9 AUER 6718 6960
62Q ?

(A) 0°
(B) 30°
4(C) 60°

(D) 120°

150. P9ER AAUIKIRSS! 6ANFR I 629G 2¢) I8S

149. If three forces equ

A) 0
(B) 30
(C) 60

(D) 120°

seT -(D)
al in magnitude acting

on a body produce no result, then the

angle between any two forces is :

150. Which of the folloWing-does not react.‘

6@l68 goRal 96a /1@ ? with acid ?
(A) ofl (A) Copper
(B) G6am (B) Nickel
(C) eaifian (C) | Chromium
(D) gL (D) Oxygen

o<, @Iy @18 919 / SPACE FOR ROUGH WORK
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